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Sanskrit has a category of non-finite verb that, unlike
the “infinitive,” does not correspond in function to
anything in European languages. Hence European
grammars have called it various names:

X

@ %W

gerund (Whitney, Mdller, Macdonell, Deshpande, Goldmans, Maurer)

absolutive (Shulman and Hart, Ruppel)

continuative (Hart)
indeclinable/adverbial/conjunctive participle (others)
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This category is found across the “South Asian
Linguistic Area,” and has a close functional parallel in
the Dravidian languages in what Tamil grammarians call

the vinaiyeccam.

Following current usage in linguistics, and avoiding
confusion with other categories (“absolute” constructions,
participles, and gerunds/verbal nouns), | will call such

forms converbs. "3@5]]
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A converb is a non-finite and indeclinable verbal form
that functions as an adverbial modifier of another
verb.

Modifiers, like converbs, are not required to complete
the meaning of the verb they modify. By contrast,
infinitives are complements, and they serve to
complete the sense of the verb with which they are

used. e
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Just like infinitives, converbs obey the same agent
requirement (the agent of the converb must be the
same as the agent of the verb it modifies).
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>4 WHAT IS A CONVERB? s

The basic meaning of the converb in Sanskrit is
“having xed”: that is, it is used to express a verbal
action that the agent has done prior to doing the
action expressed by the main verb.

3‘||';|fé9®| - J[d: “Having taken his leave [a+Vprach],
he went.”
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24 WHAT IS A CONVERB? s

The basic meaning of the converb in Sanskrit is
“having xed”: that is, it is used to express a verbal
action that the agent has done prior to doing the
action expressed by the main verb.

(@

Hcodl = dIh “Having thought [Vman], he spoke.”
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| suggest the translation “having x-ed” as a first
attempt to render the converb, but you should feel
free to try other translations, keeping in mind that it is
an adverbial modifier:

(@

Hcdl = dlxh “After thinking [Vman], he spoke.”
“After some thought [Vman], he spoke.”

“Upon reflection [Vman], he spoke.”
“He spoke thoughtfully [Vman].” [f2Rg& [l
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Contrast:

¢

[EdH + 3

“She begins to write [VIikh]” (infinitive)

5 fEcar

“Having written [Vlikh], she begins
(to do something else)” (converb) ]]Q@i]]
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Just like infinitives, converbs can take arguments and
modifiers of their own (except, of course, those

expressing the agent, which the converb gets from
the main verb).

F@q - TofEdr « Idr

“Having written [Vlikh] a letter, she left.”
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Unlike infinitives, you can have as many converbs as
you want in a sentence:

oy + fSfEcdr « &S« Ul ¢ IS ¢ I

“Having written [Vlikh] a letter, and having sent [pra+Vis]

Irakssl)
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(it) to her parents, she left.”
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There are basically two types of converbs in Sanskrit:

one formed with -tva and -(#)ya, which is the basic converb
(“having x-ed)

a much rarer formed with -am, which in Classical Sanskrit is
usually reduplicated and has a continuous or repeated sense
(this is however common in Vedic prose)

e
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The first converb is formed by adding tva onto the
verbal root, which goes into the zero grade (if it isn’t in
the zero grade already).

having done
having lead
having conquered

having become

e
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If the root ends in a consonant, internal sandhi will

generally take place:

Viig — T

VST — TR
VIg  — g
VERT — T

having split
having eaten
having realized
having touched

e

sanskrit aft uchicago



Verbal roots that are taught by Panini with a semivowel
followed by the vowel a (like Vvac, Vvad, Vsvap, Vprach,
\yaj) are actually in the full grade, and they need to be
“stepped down” to reach the zero grade. This is a
simple process that Sanskrit grammarians call
samprasaranam.

Just remove the vowel -a- from the root, and convert the
semivowel into the corresponding vowel. "3@3"

sanskrit at nchicago




SRR

having slept
having sacrificed
having spoken
having pierced
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Roots with a followed by a nasal are also full-grade and
require modification. Some of them (like Yman, N gam,
V$arns, and Ybandh) simply drop the nasal:

\[IIT'[ —»  Hce
Vi —  7d
VR — I
Verd  — I

having thought
having gone
having praised

having bound

e
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Others (which originally ended in a laryngeal) lengthen
the vowel before the nasal:

VR —» 3IM=dl  having ceased
\/-'_?F’:[ —»  2h[~cql  having stepped

e
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Roots ending in long -a or -ai generally take -/ or -'in
the zero grade:

VEIT — T&Ic9] having stood

\[%4" —> f\gcq having placed

\/_3' —> I(gcq having abandoned

\/_ﬁ — > Jﬂcq | having sung

\/_QT — QT][ having given "Q@‘-’"
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As with the infinitive, many verbs form the converb in -tva
by adding a vowel -i- between the root and the suffix.
More or less the same rules apply, although some roots

that take -/- in the infinitive don’t take it in the converb.

\/_‘i — Hcdql having become (contrast #f=qq)
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One important point to bear in mind, however, is that -/
generally causes the verbal root to go into the full-grade
(gunah) form, rather than the zero grade!

\/_11 — L||(2|co|| having purified

\/%ﬁ —> Qllr?'iCQI having laid down

\/__%T'[ — il having turned

e
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There are of course exceptions:
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having known
having wept
having grasped
having stayed

having spoken
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There are of course exceptions:

(N N

dlacd[ having known

ki
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] having wept
having grasped  : 1ot
i samprasaranam!
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having stayed

having spoken "g@‘i il
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Only verbs without verbal prefixes (gatayah) take the
suffix -tva. Verbs with prefixes take the suffix -ya.

(The accent is on the syllable before the suffix).

\/-‘_?I('T\f —> 35(\|c5|| having bought

o @+ V3H — TERE  having sold
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If the verbal root on its own would make up a light
syllable (i.e., it has a short vowel without a following
consonant), then the suffix takes the form -tya:

N [N
3Y \/%" — 3H[YghcY having authorized

M+ \/ f@{ —> 3]1'@]?{{ having resorted to

e
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Verbal roots ending in a nasal can either retain the
nasal and use -ya, or drop it and use -tya.

T+VTH — WU, 90T having bowed

M+ VI —> SN, 3IFA  having come

e

sanskrit aft uchicago




(This is only for verbs that drop the nasal before -tva:
the other group just adds -ya.)

T+ \/T;b_l:_[ —» YUhH] having advanced
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Verbs that end in a long -a or -ai take -a rather than -/ or

-I'in this form:

(@GN

E+ VAT — a3

MM+ VI — AR/

having discerned

having taken
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The augment -/- is never used with -ya.

ﬁ[ + \/g‘?[ —> ﬁ%cq having turned back

Y \/ER:[ — TS having stayed

]%[+ \/Zlg —> ]%Pjﬁl having fought

e

sanskrit aft uchicago



UAMUI- 7.2.115—116

The other type of converb is formed by adding -am onto the
verbal root, which takes a particular form of vowel gradation that
| call N-vrddhih (because Panini indicates it with the letter N).

# vrddhih if the root ends in a vowel (Vkr - kar-)

or the vowel a + a single consonant vowel (Nyaj - yaj)

# gunah otherwise (\Ndrs — dars-)

e

sanskrit aft uchicago




This converb is often repeated in Classical Sanskrit to refer to
action that takes place continuously or repeatedly.
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HYEHOMH + B0+ A9+ ATEH - YREIH

“He wandered around,
looking [for a long time] at the fresh mango shoots,
and listening [for a long time] to the buzzing of the bees.”

[Dasakumaracaritam of Dandin, cited in Whitney §995.] "g@i"
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All converbs are negated by the prefix a- (an- before
vowels).

N
qH - 31€§| " “without having seen the thief”

(e NERaN N TR .
TRMH + AEIA without having understood
the difference”
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